
Practice questions – Year 5 and 6 – Percentage OFF amount

1. Find 10 % OFF 3,200 (percentage OFF amount)

2. Find 25 % OFF 200 (percentage OFF amount)

3. Find 40 % OFF 360 (percentage OFF amount)

4. Find 80 % OFF 2,500 (percentage OFF amount)

5. Find 75 % OFF 4,008 (percentage OFF amount)

6. Find 12 % OFF 2,700 (percentage OFF amount)

7. Find 91 % OFF 4,300 (percentage OFF amount)

8. Find 54 % OFF 2,250 (percentage OFF amount)

© Arithmetic Hub. All rights reserved.



Practice question answers – Year 5 and 6 – Percentage OFF amount

1. Find 10 % OFF 3,200 = 2,880 (percentage OFF amount)

2. Find 25 % OFF 200 = 150 (percentage OFF amount)

3. Find 40 % OFF 360 = 216 (percentage OFF amount)

4. Find 80 % OFF 2,500 = 500 (percentage OFF amount)

5. Find 75 % OFF 4,008 = 1,002 (percentage OFF amount)

6. Find 12 % OFF 2,700 = 2,376 (percentage OFF amount)

7. Find 91 % OFF 4,300 = 387 (percentage OFF amount)

8. Find 54 % OFF 2,250 = 1,035 (percentage OFF amount)
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